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LEARNING OBJECTIVE

# Students will be able to clarify their doubts and

able to evaluate themselves through class test.
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CLASS TEST




CLASS TEST

1.Fill in the blanks :

a)

The numbers being added are called

The number from which the subtrahend is subtracted is called as

The result obtained by the process of division is called the

If we add 1 to a given number, then we can get the of the given

number.
When we divide a number by the number itself, (except 0) we get the quotient

as
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CLASS TEST

1.Fill in the blanks :

f) The number to be divided is called the

g) 0+4378 =

h) The sum of any number and zero is the

i) Remainder is always smaller than the

j) Is it possible to get the same number, if a number is divided by 1? (Yes/No)

k) A number is divided by 12. What is the largest possible remainder we can get?
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CLASS TEST

2.Simplify/ Compute these :

a) 423412 x 234

b) 17,040-11,714 + 8,948 - 20,374 + 11,440

3. Solve these story sums:

a) Sum of two numbers is 6,38,07,119. If one of them is 3,83,23,479, find

the other number.

b) Each box has 2254 pencils. How many pencils will be there in 62 such_

g
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CLASS TEST

1.Fill in the blanks :

a)

The numbers being added are called addends

The number from which the subtrahend is subtracted is called as minuend .

The result obtained by the process of division is called the __duotient

successor

If we add 1 to a given number, then we can get the of the given

number.
When we divide a numbers by the number itself, (except 0) we get the quotient

as .1
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CLASS TEST

f) The number to be divided is called the dividend

g)0+4378=__ 0

h) The sum of any number and zero is the __humber itself

i) Remainder is always smaller than the divisor

j) Is it possible to get the same number, if a number is divided by 1? (Yé&gdlo)

k) A number is divided by 12. What is the largest possible remainder we can get?
11
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CLASS TEST

2.Simplify/ Compute these :
a) 423412 x 234 =9,90,78,408

b) 17,040 -11,714 + 8,948 — 20,374 + 11,440 = 5,340

3. Solve these story sums:

a) Sum of two is 6,38,07,119. If one of them is 3,83,23,479, find
the other number.

Ans. 2,54,83,640

b) Each box has 2254 pencils. How many pencils will 62 such boxes have?

g

Ans. 1,39,748 M




LEARNING OUTCOME

# Students clarified their doubts and answered the
guestions given for class test.
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HOME WORK
Practice Ch-5 Operations on larger numbers
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